Неконтролирующая контрольная работа по английскому языку

Задание 1: (В4) He was a talented person. By the age of thirty, he  ……… as an author, a lecturer, and a musician.(to know)
                               In the early 1500 tomatoes came to Europe/  Tomatoes………. By many people to be poisonous.  (to think)

                               Back in the days before the car ……., the only means of transport  were the horse and the bicycle. (to invent)
	Шаг выполнения
	Класс
	Задания
	Дополнительные задания

	
	
	
	теория
	практика

	1.Перевести предложения на русский язык.

2.Определить залог (активный \ пассивный) и его структуру

3.Поставить глагол to be в 

соответствующую форму.

4.Поставить смысловой глагол в соответствующую форму.

5. Образовать формы страдательного залога.

5Определить время глаголов-сказуемых.

6. .Проверить правильность перевода.
	
	Определить залог:

1.Они построили дом в прошлом году. 2.Дом был построен в прошлом году. 3.  Pupils water the flowers once a week. 4.The flowers are watered by pupils once a week.

Вставить правильную форму глагола to be.

1. … your country large? 2.I…free yesterday. 3…you be at home in an hour? 4.There…twenty pupils at last lesson.5. There…no telephone in our place.

Вставить соответствующую форму глагола

Infinitive                Past Simple          Participle II

Play                         played                   ………

Buy                          ……..                    bought

Arrive                     arrived                  ………

……..                       ate                         eaten
Поставить формы страдательного залога

глаголов play, swim.

Найти соответствия, подчеркнуть глаголы-сказуемые.

1.He is asked at every lesson. 2.She was being waited for three hours. 3.London was founded by the Romans. 4.Many new buildings are built in our city. 5.The doctor was sent for.

a)Много новых зданий строится в нашем городе. в)Его спрашивают на каждом уроке.с)Лондон был основан римлянами. d)Её ждали три часа.е) За доктором послали.
1.Правила изменили год назад.

a) The rules changed a year ago.

b) The rules were changed a year ago.

2. Над ним смеялись целый год.

a) He was being laughed at for the whole year.

b) He was laughed at for the whole year.

c) He was laughing for the whole year.

3. Рис выращивается людьми.

a) Rice is growing by the people.

 b)  Rice is being grown by the people.
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